Fractions - Answers

Key Stage 2: 2003 Paper A
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Key Stage 2: 2003 Paper B
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Key Stage 2: 2007 Paper B
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Key Stage 2: 2009 Paper A

1.

Diagram completed carrectly as shown: 1m

Key Stage 2: 2009 Paper B
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Key Stage 2: 2010 Paper A
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Key Stage 2: 2010 Paper A

2.

20

Key Stage 2: 2010 Paper B

1.

Fraction circled as shown: 1m
L = il =
& b 3 6

An explanation which recognizes that 5z a 1m

quarter of 20, the total nurmber of balloons, ag:

&

L | ‘:— are red, % are blue and half are yellow’
B ‘A quarter of 20is 5

B 5 out of 20¢
B ‘There are 20 balloons altogether and 5 are red
so she is comrect’.

Do not award the mark if additional incorrect lines
are drawn.

Lines nead not touch the shapes or number line
pravided the intended accuracy is dear.

Accept equivalent fractions or deamals.

Arcapt equivalant fractions or decimals.

Numbers in brackets may be given in either order.
Accept equivalent fractions or decimals.

De not accept use of the same card twice, eg

[ofa)la

Accept alternative unambiguous indications, eg
fraction ticked, crossed or underlined.

Na mark is awarded for circling "Yes' alone.

Do not accept vague or incomplete explanations,

eq:

B ‘5 are red, 5 are blue and 10 are yellow so that
is a guarter’

B ‘There are 20 altogether’
B ‘Add all the balloons up and divide by 4'

If ‘Mo’ is circled but a correct, unambiguous
explanation is given, then award the mark.



Key Stage 2: 2010 Paper B

2.

11

Award TWO marks for diagrams ticked or crossed
as shown:

[Ty “

If the answer is incorract, award ONE mark for
three diagrams ticked or crossed comectly.

Key Stage 2: 2010 Paper B

3.

20

126

Key Stage 2: 2011 Paper A

1.

15

An explanation which recognises that the shaded
area is equivalent to one-third, ag:

L ‘i is shaded and that is equivalent to %

B ‘2 out of & is the same as 1 out of 3’

B2 put of &'

W 7 is shaded and%is not shaded, which is the
same as 3 shaded and % not shaded’

B ‘There are 3 squares, and 2 halves are shaded,
and 2 halves make one whole'

B ‘The two shaded triangles are the same as one
square and that is one out of three squares’

B '1 square out of 3'

B 'If you add the shaded parts together it makes
ane sqguare’

Key Stage 2: 2011 Paper B

1.

T

Up to 2m

1m

1m

O,

1m

Accept alternative unambiguous indications, eg
¥orN.

For TWO marks, accept:

v

Mo mark is awarded for circling “Yes' alone.

De not accept vague or incomplete explanations,
eq:

B it's equivalent to %
L ‘% is shaded and % is not shaded’

B ‘The two parts shaded add up to '%'

B ‘Half of 2 squares are shaded'’.

If ‘Mo’ is circled but a correct, unambiguous
explanation is given, then award the mark.

Accept equivalent fractions or decimals.



Key Stage 2: 2011 Paper B

2.
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Key Stage 2: 2012 Paper AL6

1.

Indicates Yes and gives a correct explanation, eq:
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Accept equivalent fractions, eg %
Accept 0.2 OR 20%

Minimally acceptable explanation, eq:

fo ot

12
27T
* 4z gver a third of 2
. -;-of?isi-]-

» %Es closer to a half than a third
= 033 044
* |t is one ninth bigger

* |f you divide %b)r a %yau get ;—

. X

1

Inaceuracies in diagrams

Throughout the question, condone provided
the pupil's intention to divide into thirds,
ninths and/or eighteenths is clearly shown,
and the correct sections are shaded

Indicates No, or no decision made, but
explanation clearly correct

Condone praovided the explanation is more
than minimal

Incomplete or incorrect explanation, eq:

« If you draw a pie chart for %, more than % is
shaded

: 4 1
» Put them into 27ths and = =

1 -3
= 3x3=3



7b

Indicates No and gives a correct explanation, eq:

The fractions are equal; if you multiply the
numerator and denominator by the same
number the fractions are equivalent

577

4 _8 £
I;,)<2—.?ﬂ|c:t,IE

2 A IR 4
13,.2—|Ewh|d1rs?not?

To double the fraction, you don't double the
numearator and the denorninater, you just
double the numerator

To halve the fraction, you don't halve the
denominator, only the nurmerator

Key Stage 2: 2012 Paper A L6

2.

14

Completes both fractions correctly, ie

17
20

U1|l.|J

Completes one of the fractions correctly
OR

Shows bath correct values, even if they are not
fractions in their simplest forms, eg

. 2% and 3.85 seen

Key Stage 2: 2012 Paper A

1.

9

Diagram completed to show three triangles
shaded, or equivalent, eg

1m

&)

ar

1m

im

v Minimally acceptable explanation, eq:

= Equal

s Egquivalent

= Same

» fishalf of §

. % is half of 1%

* You only double the top number
= You only halve the top number

Indicates Yes, or no decision made, but
explanation elearly correct

Condone provided the explanation is more
than minimal

Incomplete explanation, eqg

e [f you double the top and the bottom

number of %, you get —FE—

Accept inaccurate shading provided the intention
is clear.



Key Stage 2: 2012 Paper B

1.

Award TWO marks for three fractions correct as
shown:

K]
AND

i —

AND

=

If the answer is incomect, award OME mark for two
fractions correct.

Key Stage 2: 2013 Paper A L6

1.

% or equivalent

Shows or implies a complete correct method and
no conceptual errors, eg:

* Shadedfractionis % + 3 = §
Fraction of total white area =1 - £ = 2
% +2

o 3+%=20% +20% = 30% (error)
White area = 70%
Each white area = 35%

Key Stage 2: 2013 Paper A

1.

14

Diagram ticked correctly as shown:

N

L O

N

Up to 2m

im

1im

Accept equivalent fractions, eg

v  Equivalent fractions, decimals
or percentages

! 30 with no % sign

Accept for 1m as evidence of a
correct method

15 13
I 5 org

Accept for 1m as evidence of a
correct method (incorrect notation for% +2)

X  Conceptual errors seen, eg.

il
=

3

+3
I = 5% 4+ 5% = 10%
)

i

2o = el

. g

Accept alternative unambiguous indications.



Key Stage 2: 2013 Paper A
2.

20 Award TWO marks for the correct answer of 300 Upto2m  Answer must be in grams for the award of

TWO marks.

Do not accept 0.3kg.

Working must be carried through to reach
an answer for the award of ONE mark.

If the answer is incorrect, award ONE mark for
evidence of appropriate working, eg

1% kg = 1500g
1.2 kg = 1200g
1500g - 1200g = wrong answer

Key Stage 2: 2014 Paper A L6

1.
8a Gives a pair of numbers to make the calculation im + Accept the following
correct, eq:
4 - l Alzl
o
. 1[5 o
X Use of non-integers, eq:
. O
;

8b Gives a different pair of numbers to make the im
calculation correct

Key Stage 2: 2014 Paper B L6
1.

8 Gives a correct explanation that converts 1m

the given fractions to decimals or fractions
with a common denominator / numerator or
percentages, eg:

4 36 5 386
" T=B3 but G=F3
* 0.57142... > 0.55555

* Because there is a g3 difference between the
two

v Forframmt:

* 0.57(.) or 57(. ...%)

For % accept:
= (.56 or 0.55(...) or 56(%) or 55(. ...%)

Minimally acceptable explanations, eg:

38 35
"8 B3
* (.56 0.57

Incomplete explanations that fail to convert

both fractions to a common format, eg:
o 7is0.57 so it is bigger

* Oths are smaller than Tths and there is only

one more 9th than 7th so ; is greater

Condone method of conversion
incorrectly expressed in an otherwise
correct explanation, eg:



Key Stage 2: 2014 Paper A
1.

6a C AND E im
6b B im

Key Stage 2: 2014 Paper A

2.

18a 6+ im

18b 13 1m

Key Stage 2: 2015 Paper A L6
1.

10 Sum completed using the correct three cards, ie: im

— . =4
+ + =1 x

Key Stage 2: 2015 Paper B

1.

10a Any two triangles in the shape shaded. im

10b Any two more triangles in the shape shaded. im

Key Stage 2: Paper 1 Arithmetic - Sample

Letters may be given in either order.

Accept equivalent fractions.
Do not accept 5%

Accept equivalent fractions, eg
2 3
1%, % 1.5, 150%

! The correct three fractions may be given
in any order
¢  Unambiguous indication, eg:
» fractions joined to boxes
* use of correct equivalent fractions or
decimals or percentages which must be
linked to the original fraction cards

Accept alternative unambiguous indications.

Accept alternative unambiguous indications.

1.
Qu | Requirement Mark | Additional guidance
2 2 1 mark
7

Key Stage 2: Paper 2 and 3 Reasoning - Sample

1.

Qu Requirement Mark

Additional guidance

9 5 1 mark
12




Key Stage 2: 2016 Paper 1 Arithmetic - Sample

1.

10

wn|ea

1m

Accept equivalent fractions or an exact
decimal equivalent, e.g. 0.6

Question 10 commentary: As the question is expressed in common fractions, pupils should give their answer as a
common fraction. An equivalent fraction such as £ \would also be awarded the mark. Since this fraction does have
an exact decimal equivalent, the mark scheme also allows this to be awarded the mark.

Key Stage 2: 2016 Paper 1 Arithmetic - Sample

2.

19

w|n

im

Accept equivalent fractions or the exact
decimal equivalent, e.g. 0.5 (accept any
unambiguous indication of the recurring
digit).

Do not accept rounded or truncated
decimals.

Question 19 commentary: This question is also expressed in common fractions and pupils should give their answer
as a common fraction. This fraction answer does have a recurring decimal equivalent which would also be creditworthy.
However, a decimal answer truncated to 0.5 or rounded to 0.56 for example would not be awarded the mark.

Key Stage 2: 2016 Paper 1 Arithmetic - Sample

3.
26 | 1 im Accept equivalent fractions or the exact
32 decimal equivalent, e.g. 0.03125
Do not accept rounded or truncated
decimals.
Key Stage 2: 2016 Paper 1 Arithmetic - Sample
4.
30 o5 1 1m Accept equivalent fractions or an exact
2 decimal equivalent, e.g. 25.5
Key Stage 2: 2016 Paper 1 Arithmetic - Sample
5.
32 im Accept equivalent fractions or an exact

1
5

decimal equivalent, e.g. 0.2




Key Stage 2: 2016 Paper 1 Arithmetic - Sample

33 | 19 im

Key Stage 2: 2016 Paper 1 Arithmetic - Sample

Accept equivalent fractions or an exact
decimal equivalent, e.g. 0.95

Do not accept rounded or truncated
decimals.

7.
35 1 5 im Accept equivalent fractions or an exact
8 decimal equivalent, e.g. 1.625
Do not accept rounded or truncated
decimals.
Key Stage 2: 2016 Paper 1 Arithmetic - Sample
8.
36 1m Accept equivalent fractions or an exact

oo

decimal equivalent, e.g. 0.375

Do not accept rounded or truncated
decimals.




Key Stage 2: 2016 Paper 2 Reasoning - Sample
1.

4 | Award TWO marks for four shapes matched Up to | Lines need not touch shapes or fraction
correctly as shown: 2m boxes, provided the intention is clear.

Do not credit any shape that has been
matched to more than one fraction.

If the answer is incorrect, award ONE mark
for three shapes matched correctly.

Key Stage 2: 2016 Paper 3 Reasoning - Sample

1.
13 | Award ONE mark for any of the following: im Accept equivalent fractions correctly
ordered, e.g.
7.8 _5
16 12 8 21 24 30
OR 48 < 48 < 48
21 _ 24 _ 36
LF<f <8 8 < 8 < a8
7 .10 _ 12
OR 16 16 - 16
7 .5,.38 12 _ 15 _ 18
16 8 4 24 24 24
OR
6 _5 _3
12 <8 < 3




Key Stage 2: 2016 Paper 1 Arithmetic

1.
24 12 or 2 im | Accept equivalent fractions or the
7 7 exact decimal equivalent, e.g. 1.285714
(accept any unambiguous indication of the
recurring digits).
Do not accept rounded or truncated
decimals.
Key Stage 2: 2016 Paper 1 Arithmetic
2.
27 | 1 1m Accept equivalent fractions or an
A exact decimal equivalent, e.g. 0.25
Key Stage 2: 2016 Paper 1 Arithmetic
3.
31 1 21 im Accept equivalent fractions or an exact
2— OR — ; ;
10 10 decimal equivalent, e.g. 2.1
n
Do not accept 1 10
Key Stage 2: 2016 Paper 1 Arithmetic
4.
33 | 1 im Accept equivalent fractions or an exact
5 decimal equivalent, e.g. 0.2
Key Stage 2: 2016 Paper 1 Arithmetic
5.
34 | 56 1m
Key Stage 2: 2016 Paper 1 Arithmetic
6.
35 | 11 im Accept equivalent fractions or the exact

—i
3%}

decimal equivalent e.g. 0.916 (accept any
unambiguous indication of the recurring
digit).

Do not accept rounded or truncated
decimals.




Key Stage 2: 2016 Paper 2 Reasoning

1.
Ta 8 _4 1m
| 3 12 1m
Key Stage 2: 2016 Paper 2 Reasoning
2.
10 | Award TWO marks for all three diagrams Up to | Accept alternative unambiguous
completed to show three-quarters shaded, 2m indications of parts shaded.
e.g.
If the answer is incorrect, award ONE mark
for two diagrams correct.
Key Stage 2: 2017 Paper 1 Arithmetic
1.
3 | 11lor?” im | Accept equivalent mixed numbers,
6 fractionE or an exact decimal equivalent,
e.g. 1.16 (accept any unambiguous
indication of the recurring digit).
Do not accept rounded or truncated
decimals.
Key Stage 2: 2017 Paper 1 Arithmetic
2.
15 | 2 im Accept equivalent fractions or an exact
5 decimal equivalent, e.g. %or 0.4
Key Stage 2: 2017 Paper 1 Arithmetic
3.
23 1m Accept equivalent fractions or an exact

oo |

decimal equivalent, e.g. 0.375




Key Stage 2: 2017 Paper 1 Arithmetic

4.
26 | 11 im Accept equivalent fractions or an exact
20 decimal equivalent, e.g. 0.55
Key Stage 2: 2017 Paper 1 Arithmetic
5.
27T | 1 im Accept equivalent fractions or an exact
5 decimal equivalent, e.g. % or0.2
Key Stage 2: 2017 Paper 1 Arithmetic
6.
28 | 5 1im Accept equivalent fractions or an exact
16 decimal equivalent, e.g. 0.3125
Key Stage 2: 2017 Paper 1 Arithmetic
7.
30 [ 31 18 im | Accept equivalent mixed numbers,
fractiong or an exact decimal equivalent,
e.g. 3.16 (accept any unambiguous
indication of the recurring digit).
Do not accept rounded or truncated
decimals.
Do not accept 2%
Key Stage 2: 2017 Paper 1 Arithmetic
8.
32 | 5 im Accept equivalent fractions or an exact
24 decimal equivalent, e.g. % or 0.2083
(accept any unambiguous indication of the
recurring digit).
Do not accept rounded or truncated
decimals.
Key Stage 2: 2017 Paper 1 Arithmetic
9.
35 | g5 1 1m Accept equivalent fractions or an exact
2

decimal equivalent e.g. % or 855




Key Stage 2: 2017 Paper 2 Reasoning

1.

Both shapes ticked as shown:

v

c=
i

1m

Accept alternative unambiguous positive
indications, e.g. shapes circled.




Key Stage 2: 2017 Paper 2 Reasoning

2.
23 | Award TWO marks for the comect answer Up to | Accept equivalent fractions or an exact
of L 2m | decimal equivalent, e.g. 0.583
12

If the answer is incorrect. award OME mark

for evidence of an appropriate method, e.g.

807 + 60°% = 1507

1150
360

Accept for ONE mark an answer between
0.58 anag 0.59 inclusive.

Answer need not be obtained for the
award of ONE mark.




Key Stage 2: 2018 Paper 1 Arithmetic

1.
28 5 im Accept equivalent fractions or an exact
11 decimal equivalent, e.g. 0.45 (accept any
unambiguous indication of the recurring
digits).
Do not accept rounded or truncated
decimals.
Key Stage 2: 2018 Paper 1 Arithmetic
2.
17 | 6 im Accept equivalent fractions or an exact
7 decimal equivalent, e.g. 0.857142 (accept
any unambiguous indication of the
recurring digits).
Do not accept rounded or truncated
decimals.
Key Stage 2: 2018 Paper 1 Arithmetic
3.
19 | 750 1m
Key Stage 2: 2018 Paper 1 Arithmetic
4.
24 | 7 1im Accept equivalent fractions or the exact
10 decimal equivalent, e.g. 0.7
Key Stage 2: 2018 Paper 1 Arithmetic
5.
25 | 51 1m Accept equivalent mixed numbers,
2 fractions or the exact decimal equivalent,
eq. 2.5
Key Stage 2: 2018 Paper 1 Arithmetic
6.
28 1m Accept equivalent fractions or an exact

3| ha

decimal equivalent, e.g. 0.6 (accept any
unambiguous indication of the recurring
digits).

Do not accept rounded or truncated
decimals.




Key Stage 2: 2018 Paper 1 Arithmetic

7.
31| 1 1m Accept equivalent fractions or an exact
8 decimal equivalent, e.g. 0.125
Key Stage 2: 2018 Paper 1 Arithmetic
8.
33 | 60 im Do not accept unsimplified equivalent
fractions unless accompanied by 60 or 51—0
Key Stage 2: 2018 Paper 1 Arithmetic
9.
35 | 517 im Accept equivalent mixed numbers,
21 fractions or the exact decimal equivalent,
OR e.g. 2.809523 (accept any unambiguous
indication of the recurring digits).
59
21 Do not accept rounded or truncated
decimals.
Key Stage 2: 2018 Paper 2 Reasoning
1.
4 | Both values correct, as shown: 1m Both values must be correct for the award
of ONE mark.
s _ o _ U8
4 @ 24
Key Stage 2: 2018 Paper 2 Reasoning
2.
13 | Correct number circled, as shown: 1m Accept alternative unambiguous positive

indication of the correct answer, e.g.
fraction ticked.




Key Stage 2: 2018 Paper 3 Reasoning

1.

16

Award TWO marks for the correct answer
of 184

If the answer is incorrect, award ONE mark
for:

= sight of 92
OR

» evidence of appropriate method, e.g.

. %xE?E:QE

92x2=

* 276 +3=92
276 -92 =

Up to

Answer need not be obtained for the
award of ONE mark.

Key Stage 2: 2018 Paper 3 Reasoning

2.

18

Award TWO marks for the correct answer of
11—2 or an equivalent fraction.
If the answer is incorrect, award ONE mark

for:

|_|.

* sight of L

OR
= evidence of appropriate method, e.g.

. 2

1

M3

Up to

Answer need not be obtained for the
award of ONE mark.

Key Stage 2: 2019 Paper 1 Arithmetic

1.

22

=i

1im

Accept equivalent fractions or an exact
decimal equivalent, e.g. 0.857142 (accept
any unambiguous indication of the
recurring digits).

Do not accept rounded or truncated
decimals.




Key Stage 2: 2019 Paper 1 Arithmetic

2.
24 | 19 im Accept equivalent fractions or an exact
20 decimal equivalent, e.g. 0.85
Key Stage 2: 2019 Paper 1 Arithmetic
3.
26 | 5 3 im Accept equivalent mixed numbers,
10 fractions or an exact decimal equivalent,
33
10
Key Stage 2: 2019 Paper 1 Arithmetic
4.
28 | 23 im Accept equivalent fractions or an exact
36 decimal equivalent, e.g. 0.638 (accept
any unambiguous indication of the
recurring digits).
Do not accept rounded or truncated
decimals.
Key Stage 2: 2019 Paper 1 Arithmetic
5.
31 | 2 im Accept equivalent fractions or an exact
9 decimal equivalent, e.g. 0.2 (accept
any unambiguous indication of the
recurring digits).
Do not accept rounded or truncated
decimals.
Key Stage 2: 2019 Paper 1 Arithmetic
6.
32 13 im Accept equivalent mixed numbers,
4 fractions or an exact decimal equivalent,
OR e.g.1.75

=~




Key Stage 2: 2019 Paper 1 Arithmetic

7.
34| 4.1 im Accept equivalent mixed numbers,
2 fractions or an exact decimal equivalent,
e.g.17.5
OR 9
70 oRr 35
4 2

Key Stage 2: 2019 Paper 1 Arithmetic

8.
35 | 450 1m
Key Stage 2: 2019 Paper 2 Reasoning
1.
20 | Award TWO marks for two boxes ticked Up to | Accept alternative unambiguous positive
2m indication of the correct answer, e.g. Y.

correctly, as shown:

R
1 v
e
3 v

for:

* only one box ticked correctly and no
incorrect boxes ticked

* two boxes ticked correctly and one
incorrect box ticked.

If the answer is incorrect, award ONE mark




Key Stage 2: 2019 Paper 3 Reasoning

1.

18

Award TWO marks for three boxes ticked
correctly, as shown:

’
5 v
2

3 v
1

!

.
6 7
24
32

Award ONE mark for;
* only two boxes ticked correctly and no
incorrect boxes ticked
OR

* three boxes ticked correctly and one
incorrect box ticked.

Up to

Accept alternative unambiguous positive
indication of the correct answer, e.g. Y.




